
 Fluency 15 Answers             Thursday 14th January 2021 

1) < 

2) 36cm, 63cm, 106cm, 136cm, 163cm 

3) 893 

4) False – 430 is the number so the ones digit is 0. 

5) 500 

6) 140 

7) 90 

8) 300 

9) 16 

10) 30 

11) 40  

12) Only multiples of 50 – 550 and 650 

Multiples of 50 and multiples of 100 (in 

middle of Venn diagram) – 100 and 200 

Outside the Venn diagram - 305 

13) £115  

14) Wednesday 

 

15)             The hexagon has 6 sides. All the other  

shapes are pentagons and have 5 sides.   

 

 

 

   



 



 


